BHEERERERADBZFICET ST 75— REFHER
1 BERSFYDBBENADNRE
RED/NRE ING 1 f2 it
4 9 5 18
I |R=0 2 5 4 11
) BmE 10 12 10 32
4 5 2 11
_ 2 6 1 9
3 |H|O 2 2 1 5
4wk 3 1 3 7
0 0 0 0
_ . 3 2 3 8
5 U (EREF) 0 1 ) 3
4 0 0 2 2
6 |/ (ERE) 0 0 0 0
Bt 22 30 24 76
> BEREFI 8 13 9 30
LB/ N\REFBE TR /S5LEHGREIEBESE
fl1-2 (BRFN)ICE., L/ #MN\XEFBRZIZOVT: TREFIRA/N\RE
THREFRANRE ING 1 F12 af
1 |BEO 0
2 |%HA 3 2 5 10
3 |{ZixO 0
4 |k 0
it 3 2 5 10
B2 BENSRIYDKRIBNADN\RAEEFTOBREHFE
SR e 1 th2 it
€& 10 15 9 34
% 8 13 9 30
i EERED \
CBYAINR 4 2 6 12
INET 22 30 24 76
hEa 7 14 6 27
EERED 8 12 7 27
T -
CBYAINR 7 4 11 22
INET 22 30 24 76

H27.9.24

&EH3



M2-1 BENSSDYVANRDNRAEEFTOBEFE

BESCDHYANRE NG B 2 E
fEd 1 2 3 6
i E%ﬁi 3 3 6
B
INGT 4 2 6 12
w5 3 6 13
B¥nE 3 1 5 9
TR
ERE
INGT 7 4 11 22
[f3 BEsHETF
SERERGES NS g1 th2 £
1 |BEEFLELLGL 17 25 22 64
2 BHEEFLITD 5 5 2 12
M4 &EE
EHEBH LN 43%1%%] = f’zﬁz
/6 1 2 FIRE /N6 1 2 F2R/E
F1FE FFYE F1FE | NE | F2FY Fo2FF I F2HFLE | ME
1 EAHFK(5H) 9 4 6 19 0
2 IN\RybR—IL(5) 0 7 4 11
3 IN\RyrR—IL(X) 0 2 1 3 6
4 TR R—IL(X) 1 1 0
5 /\L—HR—IL(5) 4 4 1 7 8
6 /\L—AR—IL (%) 2 3 8 13 1 4 5
7 EhE(S) 3 7 2 12 0
8 &IE (%) 0 1 1
9 ELHR(B) 2 2 1 1 3 5
10 (fE B (%) 4 4 0
11 YIRTF=X(5) 1 1 5 1 1 7
12 [YIRT=R (&) 1 1 1 1 2
13 (23K (5) 0 2 2 4 8
14 8Bk (%) 0 1 3 4
15 {ISR/NUR (B -%) 2 4 8 14 2 2
16 (=T (5-%0) 2 2 4 2 1 2 5
17 (RE (X) 0 1 3 7 11
18 [B=(5-%) 1 1 1 1
& 22 30 24 76 22 30 24 76

12/76

&EH3

16%



